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ONLINE JUDGE AND SCORE BOARD

# AFFIL. TEAM SCORE
1\Z#X BN IER B iE 9 640
2|FEAE ERHIE FE AR 7 588
I pEAE G IESR Jim Chang 6 474
4|7k E1HESHE103 T #E 6 476
S5|HEK AN TERR 1R B 6 528
6| pix EE TIES R ¥ BE 5 514
7o CSE Liu Allen 5 578
B AA ET100 & mrit 5 580
9| R E1H 1008 BT 5 643

10y CSE102 fi R 4 286

1A AE FHTERFR Li Kuan-Hsien 4 29

12 FELE FHTESS Kuo Chun-Ting 4 329

13| m A2 EA1ESES Huang pin-chieh 4 353

14| EHIESR iR 4 397
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problem 'Sumsets'




10404:PRIMARY ARITHMETIC

Time Limit: 3 sec
Description

Children are taught to add multi-digit numbers from right-
to-left one digit at a time. Many find the "carry" operation -
1in which a 1 is carried from one digit position to be added to
the next - to be a significant challenge. Your job 1s to count
the number of carry operations for each of a set of addition
problems so that educators may assess their difficulty.

Input

Each line of input contains two unsigned integers less than
10 digits. The last line of input contains O 0.

Output

For each line of input except the last you should compute
and print the number of carry operations that would result
from adding the two numbers, in the format shown below.
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Sample Input
123 456
555 555
123 594
00

Sample Output
No carry operation.
3 carry operations.
1 carry operation.
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10305:ORDERING TASKS

Description

John has n tasks to do. Unfortunately, the tasks are
not independent and the execution of one task is only
possible if other tasks have already been executed.

Input

The input will consist of several instances of the
problem. Each instance begins with a line containing
two Integers, 1 <=n <= 100 and m. n is the number
of tasks (numbered from 1 to n) and m 1s the number
of direct precedence relations between tasks. After
this, there will be m lines with two integers i and j,
representing the fact that task i must be executed
before task j. An instance with n = m = 0 will finish
the input.
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Output

For each instance, print a line with n integers
representing the tasks in a possible order of execution.

Sample Input
54

12

23

13

15

00

Sample Output
14253
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10305:ORDERING TASKS
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4138 - ANTI BRUTE FORCE LOCK

Lately, there 1s one serious problem with Panda Land Safe
Box: several safes have been robbed! The safes are using
old 4-digits rolling lock combination (you only have to roll
the digit, either up or down, until all four of them match
the key). Each digit 1s designed to roll from O to 9. Rolling-
up at 9 will make the digit become 0, and rolling-down at 0O
will make the digit become 9. Since there are only 10000
possible keys, 0000 through 9999, anyone can try all the
combinations until the safe is unlocked.

. .. . . UNLOCKED

7?77 0
0213 @
7?7?77 8
77?777 8
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What's done is done. But in order to slow down future robbers' attack, Panda
Security Agency (PSA) has devised a new safer lock with multiple keys Instead
of using only one key combination as the key, the lock now can have up to N
keys which has to be all unlocked before the safe can be opened. These locks
works as the following:

Initially the digits are at 0000.

Keys can be unlocked in any order, by setting the digits in the lock to match
the desired key and then pressing the UNLOCK button.

A magic JUMP button can turn the digits into any of the unlocked keys without
doing any rolling.

The safe will be unlocked if and only if all the keys are unlocked in a minimum
total amount of rolling, excluding JUMP (yes, this feature is the coolest one).

If the number of rolling is exceeded, then the digits will be reset to 0000 and all
the keys will be locked again. In other word, the state of the lock will be reset
the cracking is failed.

PSA is quite confident that this new system will slow down the cracking, giving
them enough time to identify and catch the robbers. In order to determine the
minimum number of rolling needed, PSA wants you to write a program. Given
all the keys, calculate the minimum number of rolls needed to unlock the safe.
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Input

The first line of input contains an integer 7', the number of
test cases follow. Each case begins with an integer IV (1/N500) ,
the number of keys. The next N lines, each contains exactly
four digits number (leading zero allowed) representing the
keys to be unlocked.

Output

For each case, print in a single line the minimum number of
rolls needed to unlock all the keys.

Explanation for the 2nd case:
Turn 0000 into 1111, rolls: 4
Turn 1111 into 1155, rolls: 8

Jump 1155 into 1111, we can do this because 1111 has been
unlocked before.

Turn 1111 into 5511 rolls: 8
Total rolls =4 + 8+ 8 = 20
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Sample Input

4

2 1155 2211
31111 1155 5511
31234 5678 9090
4 2145 0213 9113 8113
Sample Output
16

20

26

17
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